Trigonometry Graphing Guide

By: THE BEST GROUP (Megan, Faith, & Tommy ©)

(x,v) Signsof various trigonometric
functions as a function of quadrant.
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Function Definition Periodic Function Graph
) . ¥ , . : :
sin sing = - sin @ = sin{& + 2mn) — e i
x
cos cosa =~ cose = cosla + 2mn) /\/\/\
) |
tan tang = i—c tan& = tan{a + 7n) ’ ‘ ‘/‘/
. ' |
cse csCE =— = — csca = cscla + 2mn) - ‘ e ’ e T
N
sec secw=—= sec = sec(a + 2mn) — |
X cosa m _ m
X 1 ‘
cot coter = — = cote = cot{x + mn) w
v tana

n—anyinteger number, 0,+£1,+2 ..




Sine | Cosecant | Cosine | Secant | Tangent | Cotangent
Period 2mM |27 2T 2T T T
Asymptotes | n/a | Where |n/a Where | Half mtervals
(af any) sine 1s () cosine | periods | of T
15 0 of T (including
0)

For a "T'rigonometric function in the form
y=at|b(x+c/b)|+d
Y=gsmx o p I bude
Y=sm2x (P Ao )
Y= sin(x+1m/2) Nols S }mfj/

Y= sinx +1 :

il el )y
Amplitude= |a| (ais always positive) *If
there 1s a negative sign (-) 1n front of a, then
you need to fip the graph

Period= original period of the function ( or
2m)/ |b| *the original period of the graph is
divided by the coethcient of the X



Horizontal shift - the number added or

subtracted to the x (positive values move it to
the left, negative values to the right) *1if there
1s a period modifier (a ) then you also must
divide the horizontal shitt value by that value

Vertical shift - the number added or
subtracted to the end of a function (positive
numbers make 1t go up that amount, negative
amounts make 1t go down by that amount)
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By: Sir Saucy, Honey Mustard, Madam Dripper-Sauce, and Lil Drip with the Sklp

Arc Length
Angular Speed

M&ed 1 = radius or distance from

S the center of rotation
v = ? (in, cm, km, etc.)

s = arc length or linear distance

Angular SQeed along the circumference of a circle

P w om%o&, (in, cm, km, etc.)
w = ? 6 = angle or amount of rotation

(deg, rad, revolutions, etc.)

Arc Length t =time

— (sec, min, hours, years, etc.)
S = 7‘9 c— linear distance .
\/ p— r (JQ v= P, = linear speed
km mi
(5 Feee)
Relatlng Linear & Angular Speed ,
amount of rotation

w = ———— = angular speed
\I B e ﬁ — \ -Q-‘ rw rev degnme
‘t =T t G5 e

Proper steps to solve:

Identify given (sort variables)

Determine which equation to use

Rearrange equation to solve for variable

Plug in quantities (check for units)

Use dimensional analysis to get to proper units

Sl A

Examples
Look on brewermath.com November 7, 2016

Angular Speed (Section 5.1)
1. A wheel is rotating at 50 revolutions per minute. Find the
angular speed in radians per second.
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2.  Find the angular speed, in radians per second hand on a
clock.

3. The turntable of a record player turns at 33 (1/3) revolutions
per minute. Find the angular speed in radians per second.

Linear (Section 5.1)

1.  Each car tire has a radius of 15 inches. The tires are rotating
at 450 rev per minute. Find the speed of the automobile to
the nearest mph.

2.  Wind machine is used to generate electricity. The machine
has propeller blades that are 12 ft. in length. If the propeller
is rotating at 3 rev per second what is the linear speed in ft
per second of the tips of the blades?

3. A wheel with a 15 inch diameter rotates at a rate of 6 radians
per second. What is the linear speed of a point on its rim in
feet per minute?

Distance and Angular Speed
A merry-go-round horse is 11.6 meters from the center. the
merry go round makes 14 1/4 rev per ride in 5 min.

a. How many meters to the nearest meter does the horse
travel?
b. How fast is it moving in meters per second?

Arc Length
What is the length of arc S?

S

Page 2 of 2



	TRIG GUIDE
	trig-2017-02-13-FinalExamReviewGuide
	SKM_364e17021314220
	Trig Arc Length%2c Angular Speed PDF (1)


